SUPER TEST
BATCH

O IEH SuHdE
D~

GEIb : 120 BAL_rugsr | OILINGIS SO (100)

LGH - S

GENERAL ENGLISH (100) | ApTITUDE & MENTAL ABILITY (25)| LNl Sinfley (25)
A - Compound Words,

B - My Computer needs a Break,
C - Helen Keller & Comprehension

SieE 3 : @hlwmelei

Full Test ey

QurgSs16p (100)

1. Bevssems GMUILNGHE OLTHSSS.
A. aufssemr 1 ellenensesnens
B. a&psweold 2. o f&nemheapmLit
3. Spombd

GauHmIMDSES TN

C. eunmu&sLed

D. 2 mGeuerfled

A B C D A BC D
a) 3 2 4 1 b) 3 1 2 4
) 3 41 2 d 2 34 1

e) sflewL egMueiseneo
2. sweosilf eT6iTLIS6H Be0&aHEmTs GMILIL
a) Gapmewwsesnems b) 2 ambsasmmas
C) ueILEOBTENS d) 2 bewsasgnms
e) oL egfweiseneo

3. &abhm 1: SME0F&PEYSCHDDETM) BLD LIWLETUMLIHES6DTL
LebGeuml QLTS UBSNS Dh&BaasTeTdGD. Seney

Ob&HSLIOLIWITTSLD.

Sabml 2 : OLIWIT Siedevg) eNemensaFTDHSEHLEN 6lGSHemaTs
BFTHH &HSULGLD OLWTFOFTDSET &S EILIWITE6T

eTeuTLILIBLD.

a) sapm 1 sam, 2 &

C) sapm 18, 2 sam

e) L egMweisenso
4. sfulsoeongeubenns Cabe5®.

b) sabmi1, 2 &
d) sepm 1, 2 seum

1. semsss Qsflwon? - el : asflung - CoiteflenL

2. Bmad Ogmeoeumun? - eflewL : HGWE 61&ed - emmefilenL
3. 8msE asliamun? - el : 0s alEGD - 2 Hng)

2_emrsseo eflewL
4. sdlems egeaumun? - eflenL :
admeflemL
a) 2wr@Eb b) 4 wr@Eb c) 3,4
d) gguseoemen e) eflewL agiwefleoenso
5. Wetreumeueneumned seumnesenss & Gs

a) sLéms - o flgaenmeammLir

b) o e®i - efemeISOSTEmS

C) LEABME - LEIILSOSTNS

d) eeirud - oMb Caubmiemnins O\GTEms

e) oL egfueiseneo

6. QaM@Es&asLULGETET OFWIWET SQuied DHRSHCHMTIQLLE
QEMHEBERHGL OUMNBSHSLTE R0&55H6a0s5 SDILImLS

S6ETOTL15:

ibmleb mHmmesor LHN [BedT Lb&edT

a) UEILSOSTEDS, 2 [HEusD

b) usTLSAETS, eeeTaILEsLD
C) LTUSOHTEDS, NMEISESTEDS

&M eTpHICau6sT -

10.

11.

12.

13.

d) ueLEOSTENS, LGTLSOSTEDS

e) efewL agfwsficosmen

sflwnenaubenms CoMHAOSM.

1 Beo&se0r HLILIEWLUN6d OFTHSH6T 4 euensLILIBLD.

2. OLWITFEOFTEVEMEVU|LD, 6flemetTEeFTE0emeWILD LIGSLILIBSHS
QU(B6EUT] BEMLEFOFTEOEOMNGSLD.

3.  QUWFEASTE0MEDUILD, 6HlenETTELFTEOMEDIUILD FMiTTHS) QUIHLD
6\&T60 BEOLFOIFMEO Sp@GSLD.

4. eflemedt 6IETTEYILD EIFTEOEYHGSE E1FILIED 6T63TMY EILITHSIT.

a) 1,2,4 b) 1,4 c) 1,3

d 1,3,4 e) eflewL agiwefleoeneo

DML 68T EIIWITEEFT6060I60T 6UEHE: AHM:

a) esmpbewwi

C) efenETLIMEOEDETTUID EILILIT

b) wewrytOLWIT
d) snmeoliewwi e) eflenL egfweiebeneo
QILIWITE Q\FTe060l6IT EUemaUWINIIS6:

SLBEDIUWINET 6T65TD EILILITEFOFTE060I63T EUEHSHLING.
a) ueryuewwri  b) asmfpeuwi €)  smeoliewwi
d) eemmiouwnr e) eflewL agwefleosneo

OLINHSSIS :

A. elemenigaBnens 1 mredlges®
B. 2 aemwsasnms 2. aFueETH6
C. o.bems e\5meme 3. ueereumit Guélevtmeit
D. Sswewnfsasnems 4. wHuwpsb
A B CD A B CD
a) 2 4 31 b) 4 2 3 1
c) 314 2 d 2 41 3

e) eflenL egfweiesneo

QEBTESSILILG6TET GDLUTEN60 DHipdhGCHMeLLE O\FTDHHEHHGSLI
ELINHSSIDIEN 6058560018 GSMILILIG6T C5lis.

P&BS BLUSI BLLSTD OBELESS!

DEBE BLUGI B,

a) OLWeEsD, OLWOTESFD, AGMADELIWIT

b) efewemoOwssibd, eflenerowssb, efeneTaphnl

C) efeweTOILESID, ENEDETONLESID, LIGOTLLIGLIWIT

d) efememragsid, efeneaIEsid, ASTHHELIWIT

e) eflenL egfweiseneo

‘LfiBremIeuTEnes ~ ELIWITEREFTEE6 EUEDEHILINIE

a) esmPbhewwi
C) ewun@Leauwt
e) oL egMweiseneo

‘cuimy’ eTENTEBID EYFTED - EYFTELEOITT ET6UEUENE:?
a) sfesned b) ubesmsd

c) dewengdfaened  d) ouwissheasmsd
e) el egMweiseneo

b) uerytieLwIT
d) eflememTiimevemetoTUD QLILIT
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14.

15.

16.

17.

18.

19.

20.

21.

22.

‘SieoeEimgeiien B0 ‘ied’ aretim OLWITE E\ETeoedlsi suews
&,

a) esmPb Qwuwir
C) demeort QLWIT

b) smeotiOUw
d) eunmr euw

e) eflewL egfweiseneo 23.
OLINHSSIH
A. manrs enissD 1 &S
B. @eramrsemnisesbd 2. e
C. warsen&HsD 3. semeeusit
D. Syuiss6mssbD 4, 6euerTeued
A B CD A B C D
a) 3 4 2 1 b) 4 3 1 2
c) 21 4 3 d 4 2 3 1
e) sl egMueiseneo
PGHED6S ‘S’ AWhsg - ‘e’ a6 CLLILTFEETe0e06s
6UDS NS, 24.
a) wselmas O mMAHELIWIT
b) esmPbewwir
C) wselewes Sfhg OsMADOLIWIT
d) smeoriewLwIT
e) eflenL egfweissneo
etTeugheueTTEDMIET B 6w ddemen 618)? 25.
a) seseees fgser
b) eums aums ereo euTGsumHmTesT
C) umisEL LSS GuéleoTTest
d) emmbGse OmHEESE
e) L egMweisenen
‘sflembLied’ 6T68TD LILITEREFTELE0I6H 6uemE Dis.
a) smeoliOUWIT b) feweiouwT C) @ewrIOUWIT 26.
d) esmfbeuwr e) efen agfwelisosmen
sflenL&B@shm efleumeneus Gsiis:.
‘@rrevLsderel @urien fkESenswn’
a) BuroLsdarell BILRSSTE 6ETETEUNEGLD?
b) @rewLsSere ersusiiLgB60 umHLD?
C) @mehH INBEmewnss) er&?
d) @meh Ifbdemsliug) ag)?
e) L egfweiseneo
EWIMBLEOIIWITITED GUHLD EIIWITEHEDET EILIMTHSSIS. 27.
A. suw, BT 1 6T6UOTENONTEL GUBLDEIIIIT
B. @meur, epeurt 2. (PS6O CIEITLIGTED 6UHLD EILIWLIT
C. Semeauwsggmt 3. Sewerl ewwi
D. wwwr ewumgemt 4. @ep2 L1 Owwit
A B CD A B C D
a) 1 2 3 4 b) 3 1 4 2
c) 4 2 1 3 d1 3 2 4 28.
OLINHSS15.
A) swoe, Ogeitemen 1. @LUewuwi
B) &n@®. ewev 2. smeoLIeWLwiT
C) &Ml 3. ewm@Lrewwt
D) Srusei, eumpib 4. dewevrliOwit
A B CD A B CD
a) 4 1 3 2 b) 3 1 4 2
c) 3 421 d 2 3 1 4 29.
e) eflewL egfweieeneo
sflenL&BamHM efenmenealsCsiis.
‘IDEmMEUTE HLOSGETGET LIPHISEDSEHET 6\ medauHBeomiT

DSmD Bevemen’
a) BYIPIGESGL LB SINSS! 6187

b) mwaGaGar Guseg) 68?7

C) LPSEDSSETTEO GT6ITET HETEHLD?

d) uprusessefis demw wng?

e) efeoL agfwsficosmen

QEBTESSHUILILG6TET GDLUTENe0 DHipdhGCHMQLLE O\FTNHHEHHGSLI

OILIN(HSSLDNEST B60&H&:60TEH GMILILISHET CoiTa:

ODp&EHWPHI CHBLD DG QUBHSEOMED SHMNGESHMDLIED

6\FmevedletTS 6T BTG

a) WHmIDEDID, M ELTGHLUSTOWMS, NDEISSTEDE

b) usTLSABT®SE, @EBELINEBLLTOWMS, OLWONFFD

C) wselewes Sfmbg OsMADeLIWIT,
REWITEBLLIGTEUDTL, S\STAHELIWLIT

d) wselewes Sfbg asmAbeLwT,
QmAHELIWIT

e) eflenL eEfweiesneo

eSO FHTen S,

‘eAwriGseT eflenerpbmy’ ereiTLgeo swimes eflersamb Goiie
a) GeeturLed, sildgse OUNHETSHaNO CumHD

b) eampsse, meise OUNHETEaNO CumHD

C) epefiLrusefiayb gbumesafayd eubD

d) GHEEITL JESEID OLTHHSID

e) L egfweisenen

‘apMulefieo 2 ulitsaeEs SGa’ - e ‘2 ulTnsEsas’
a6u6lenSHHEMSMSE FTTHSSI?

a) ROIOSLL aSMDeDL ALWATSFD

b) - eflenewnessmemTLD LW

C) efwrGsmsr sfleneuepbm

d)  @uesorLmb GeupmiemLOEASTEnS

e)  eflenL eFfweiesneo

QEBTESSILILG6TET GDLUTENle0 DHipdhGCHMQLLE O\FTNHHEHHGSLI
OLINHSSLDNEST Be0&H&:60TEH: GMILILIGHET CoiTa:

SU([HEWID 2_MLENSEN([D) SiEmeumenid GeustorBLd

OILIBEOLD (PpWIHE S(HLD.

a) WhmIbenLD, LeoiLITEd 6fleweTTApHM)

b) eflwrGsner eflenetapmbmi, ELOMAHEILIWLIT

C)  whmiben, GHIIY efleneaphm)

d) dpiybenp, efwnuGsnsT sflevephm)

e) eflenL egfweiseneo

sflulleoeonseaubenms GobHOS®.

1 OLWIFOETEO Spm EUeDSLILBLD.

2. sneflum S6med HMFSHSTET - SeHEBTLIOLIWIT

3. aneflun Gesllemwwinal GuEeumsT - LisgorLLIeWLIWLIT

4. sgneflwun uetefls@g e\FeTmmeT - GLUeLIWIT

a) 1,3 b) 2,3,4 c) 1,3,4

d) gsuseoemen e) sfierL asMweisbenen
asT@E&SSULLGETeT  OFWIW6T Diguied DRECHMQLLE
C\FTDHHEBSHSLI EILITBSSLOTEN 60858560018 GDILIEDLIS SHETITL
SLIb Gamenmm saloll LNSSET6HT QUTEHMIEDSILD

a) LETLSESTEns, CTElTEmILDEmLD

b) dimengasmens, aemamIbEnL

C) e MéasmbeDILT, eeRTamibenid

d) o MsasnhHapiLi, Lphmibenp

e) eflenL egfweieeneo

Bevszem18 GO C5i1s.

&nedtm): 2_6rMLDenenTl Gevotetorerigsmil 2 miGeusulin Lfleusmbmi
2_miGauesflih -Peossmewnd CHiba) 61(pS).

a) elevesasTens b) Sierewnpsasnms

C) esmPbewwi d) o Msasne agmLit

e) L egMueisenen
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30.

31.

32.

33.

34.

35.

36.

37.

fetTau(BHLd 6M6MLES DM NTTTSHONBILIT 61817

QFIBLI LILMISET eumufeons; BaLpeysener HLD GrLILILSHC0CW

&600T(BS61l&&e0MD

a) BB fhE SHEuBsMSSeMD

b) sb QBLUI_sS60 scuBaafss saguie wieme?

c) a6 aunuieons Bapasmens s BELILILSSGOGW
&600T(B&6111&:860MD?

d) esuBlLLRIsET uTuleons aEenETTs: SETBE6MES60MD?

e) eflenL egfueiseneo

OLILITEOFTE060165T EUEDSHWMGHED * LPEEETOTETOTEN

a) @GeMUeuW b) smreIOLWIT
c) smmewor Se&PLaLWIT
d) sngewre Aplyleuw  €)  eflenL Ogfwelisosmeo

uriguisd |z Litipuied [1-6db eSS, SCW OEMBESLILLGeTer

SNBSS Q\aTem® sfwnes sfenLenws CaHeS®:

uciguied | ucipwieol |

A. eunmrewuwn 1. Q\&MMhG6t

B. @Luewuwn 2. meumedt

C. easmfbpewwi 3. Sibgeuorest

D. wuewrylewwir 4. SisBCaNESST6H
A B CD A B C D

a) 1 2 3 4 b) 4 1 2 3

c) 4 2 3 1 d 3 12 4

e) L egMueiseneo

sflenL&Gmm efleneneus; Gsiis:

“saLeled Spibs SISH S

a) BaLed BEND amIGETeNE?

b) saLed wmasi Ly esiten?

C) sWifenTed GHLILB6TET LGNS Fom)

d) sWipmie amG HOLOLDDE?

e) eflewL egMweisbeneo

OUINBSSI5:

A. gmm 1 sngersdmiiyliewi

B. wmb 2. @GeMU eumgleLwiT

C. euememuwied 3. ysi

D. wemeo 4. @GeMUewIT
A B CD A B C D

a) 31 2 4 b) 3 4 1 2

c) 2 41 3 d 1 3 2 4

e) L egfueiseneo

sflenL&Bmhm efleormeneals C5H6S0:

‘semTeueneT GUPHCHTTESS SN Boug S’

a) seeueHe GPHEGSTT WTT?

b) seueuemer BECENTES ereiten CHiTEME)?
C) WIGEE MM sapn Sweons,?

d) @ed eretTUSE EWLIMBST Wig?

e) L egfueiseneo

sflewL&ECHMHD sfevrmenets Csiis:

aunpufeitenid WMTGSLD LPWeTM SHneunibg SheTeflenest
Betrenid LILH

a) Swerellemen BeEMLD 6187

b) operelenen OLN®sT H®HS

C) SbeTEHeDETLITEAUBLD OLIHEDLD 6187

d) opeTeflene GetTenLOWITED eT6iTen GHHBLL?
e) L egfueiseneo

sflewL&CHMHD sfevTmenets Csiis:

“paed Geomie 2mBuib Geo”

a) WsS0 BOONGHEES 615 HEOLEEHTE?

b) w6 Geveongeurt wnii?

38.

39.

40.

41.

42.

43.

44,

45.

46.

C) emBuib wWNBEES euprs: CouaorBLL?

d) &ev aetmmen eretTenI?

e) L egfwelsoenen

sflenL&Bshm efleneneus Gsiia:

‘QunepmewLeIT LIGEUS CUTHDIEHILI EILIMMYSS560”
a) ewnmisseuT wmii?

b) eumpOWeT LGS 6187?

C) @shaneml OUTISSIS e\sTsTer GeuswTBLN?
d) euTmISEIs OETETEUSTE CUHLD HETEHLD eT6tTenT?
e) oL egfweiseneo

sflewL&ECHMHD sfenTmenets Csiis:

&LI601T [BLL|&E& 0SSN SSHLHBST

a) BesEEIDISS SsbbgeuT Wi?

b) mruse Bevssemionss SeEsauT Wi?

C) BLUEGE Hpbs Leoeur wmi?

d) mry eetiug wng?

e) eflenL egfweiesneo

‘Sl efleme0 WIMEMELEOND SLIHS GLTSS
SetTenpml SLHEGSMEHLD 2_aTdpril O\STETT® -
SR&CHTRLL OFTDHEHSHS 6EILMIHSSIDTE B 608 860018

GDILIenLIS S6tTLISH60

a) 2 amENETS, 2 MEasTHEDTLT

b) 2 bewsastems, 2 Hmausbd

C) SIBSSSOSILI, elevansasnens

d) o bemsastems, 2 MeansmbamLit

e) el egMweisbenen

“smpeng” aeTDEILILITEFTE606HT 6uemE JMs

C) smeorEWwIT

a) dewemuouwr  b) GewLeOLwWT

d) eunmreuwn e) efenL asfwsiicosmen

preoLwicLg Gseeon QuULemLWN? - Selsfermefleo
SHEDLDIEGI6TET QUL 61517
a) - umed euep b) Sewewm ey ) efleom eugp

d) wmy e e) efevL aiwefleoeneo
sflenL&B@ashm eflemeneus; Gsiis:.

“@s60ih ApHEETD SUHEWEPLDL”

a) PH®EVE STLIKEYLD ADHSS 61817

b) swsswenLemb eeususTey APILLI OLDHMEI?

C) easmen @5 GousmBLD

d) eseg dpiymLsST?

e) eflenL egfweissneo

sflewL&CHEHD sflevrmenets Csiis :

‘U EuPMIB EIMPLD EILIGHMIGETID LM Sebrud’
a) OuUbPMmS auPHIS QTWD LBRIGEISSTE OILMICIS)

6151?

b) eubpems euprud et eump CeuetorBLL?
C) euERGsTID aLGLNE eumb?

d) eumeus eg?
e) L egMweisenen

sflenL&Bxm efleneneus Csiis:

“@wpeil Nellulsiin aumpse BesfGs”

a) ©weses e GouermBLL?

b) oGudse Selsmaug wrg?

C) ewlulsimd sumpbseo Sevllgn?

d) @efewwwner eumpey eg?

e) eflenL egfweissneo

Speuld OFTHODILIS6T6d 2 MFnsmHODITLEDT 61185,

a) efflsLed b) sipuprs: C) wassnDenT
d) apswevid e) eflewL agwefleosneo
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47.

48.

49.

50.

51.

52.

53.

OUNBSSI5:
uciguied | ucieuieo I

A, dApwred AbLibd 54.
OFHSBLILIL LG 1 eflevrm eun&wid

B. vl Apusemas

6\F g6t 2. 2 ewni&d eunsSwD

C. &b fbusemss

6\E&IHGSEUTIT? 3. eFwiumt@® eflenenr
D. eetiGeur! fpLufesr

6W& 6UETITETOTLD! 4. egwellenest

A B C D A B C D
a) 4 1 3 2 b) 3 4 1 2
¢ 2 4 1 3 d 1 2 3 4

e) eflenL egfweiseneo
sflenL&Bamm efleormeneals C5TH6S0:

‘geued eupeumett euLABEITM) EUETTLITT EuLIGyT6IT 55.

2 weur emenGs @udi’

a) geued euepeumesT WITT?

b) geued aupefieurmed ersiTen Dh@GLD?

C) 2 eoBEHS 2 ulit wmi?

d) o wueusit asiten OSLIEDME?

e) eflenL egfweissneo

LBLIL 2 _eiTensn? erent auenlisLLD efleotald eflerT 6u6ms; 6157

a) eamered eflewr b) Omwneflesm C) ew efleom 56.

d) aeued efleomm e) eflenL esfweiisdaneo

sflenL&8sihm eflenenels8sinbas®

uflSLombh &eneoEhT OFDADMHSE BE0&HSHEITD CUSSSIGTOIT

a) ufdomb seweoEsiT GT6iTeR OFISTIT?

b) ufdwnh seneoEsit EbALMNEE Gevs:e6wTD

USSGI6T6TT?

€) uMSmb SHeneoEsT BE0SHEID USSSTIT?

d) ufgwmb semevesieit OGTeRIG W) ?

e) oL egfweiseneo

QFUILIET Slp&Hener (PetTLI6sTETTS DMDANCITTEYLD SILIMHEBHLD

RENFW|LD HeMFHWIMLDED QUBHEUS) 57.

a) eEneEu® Sl Bl OUMHETESTsT

b) Sememon) LMy eLmweTCETeT

C) ewmp wrhmiLt OLUTEHETESHTST

d) S wrppLIeLT@sTESTsT

e) oL egfweiseneo

SDEEHEWIL QUTSSUIRISHENETE SHeueshl:

spm A SOHMWEYSID FTTOLWSSIHEH6T R6TTM

FHDWEEODEMS CHNes bl eInSLILIBLD

eflengaid B : 9 e\emevedleir mbfled ‘2 &n’ 2 ulieInul epsE 53,

aurfledt @HBlweySTLD eTevTLILIBLD

a) A vpmib B @reim®h s, Goeyb A && B eflwmen
eflensaLNELD

b) A sfl B saum. Goayb A & B sflwner sflenssiein)

c) A seam B sf. Goayb B flerasdne A sfwnens O
SieiTm)

d) A whmib B @reinr@d seumy 59.

e) L egMweiseneo

PS6060NTT8: (&) 2enhu L6LEMED, LDSHEDEOUITLD

gnmieontis Heveweo Beweo - B&Gmerfled LufedTm eubF 6T
Stevofl wing)?

a) gs6ss 2 mausdewll b)) 2 euemwies

C) aBS8IHESHMN B 2euenLwewsi]
d) IgewmHse Siewf
Beo&s6em1s SMILILNSED :
“medeombmil LB2_ BT TFHGe”
sapml (A) : aslwelesweTaLemL
srgewrd (B) : @m &M Sweduns 2 eter OBLOLWSS

e) L agfweisdemeo

AHTOLBSFI, SleTeIemLE: GMlenwt Hadeumed OFuiujerfled &,
SEW6 O\&BLD
a) (A) &, Speomed (B) seumy
b) (A) phmw (B) @rew@w &M, Gweyd (B) ersirug
(A)eIh@e shiwmes eflerésid
c) (A) seumy, Sevmed (B) &
d) (A) wpmib (B) @reoG seumy
e) eflenL egfweiseneo
QEMHEEH&HHTET Bevssems: GMLLseafed auflens OIS
gflwnesr Qenevrenwls; Csite) O\&UIs:
BiTGeued, R Sevfl
a) dmasnsNMms @@ OLINIHL LiesTELDmL
b) e mesb  @meLN®L LsTOWLMA
C) ueTILEOSTENS RMEONBL Lo
d) ueryOeOLWIT RHEOLTGL LT
e) eflenL egfweissneo
OILINBSS15.

A. euwersss QL 1. &miGWped LigdseT

B. dewevionges Qs 2.  LeoeuGr euqns

C. dewemphmis OSTLT 3. LM WPeSSTedt

D. enwpeumiis; a\gmLit 4. eduLmed

E. efleflge\smi 5. 6euedipmedt GFLpest

ABCDE
b)5 3 2 4 1
d 2 14 3 5

A B C DE
a) 4 351 2
c) 35421
e) L egMueisenen
OUINBSSI5:

A. smuenre b 1. S WML LIeTeLDmL

B. eusleflemnmg 2. SeterllengweTEILIEHL

C. afg 3. e fgqenpaprLi

D. wédeved ogiemm 4. 6EmeLelemFIeTEILIEHL
A B CD A B CD

a) 3 2 41 b) 2 1 4 3

c) 2 41 3 d 1 2 3 4

e) L egfueisenen

&6 CHMMILD HIHETHET EIBTETTL. HETEURSHETTE CUHEUSI
a) Grfews SpAflwiim

b) Qewememer SpAMwiim

C) Beweowbetorigen SpAMwItILIT

d) Sugmiwesomges SpAfwiim

e) eflenL egfweissneo

Ga6UT SHEMETTUIT SHUIEUT HEUBHSMLD

GLD6u6sT Q\FUIEISIT 6DIT6DT.

- 85@DLunsileo @LID OLIHM SHewflenwid &1 Bs.

b)  sPeMLIGLDD Jiswh

C) 86w awmse Sewll d)
e) eflenL egfweisbsneo

a) euEFILHDES Siewf
NetrexpBeneoiwienfl
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60. sflwnerauhemms CaHOG®.

61.

62.

63.

64.

65.

66.

1 e MBS R OUNGheneT ANHS O\STETUSDETS
NofiLib eflenrayeug) - Sinslwim sfeorm

2. anmdsasneTepb aUNLG elleTelsug - S\semeo sfleort

3. @b \FMPemevEF QFUILDLIQ eT6yeug) — 61660 6fleuTT

4. sMb ANBS Reitewn LNDHEHES ST 6T6TLISm 60T
SIPWDOLINBLG efleseysug - Sinfefevtm

a) 1,2,3 b) 2,3,4 c) 1,2,3,4

d 2,3 e) eflewL agwefleosneo

QEBMESSLILIL @66, GULLITeN6d HipdhCHMeLLE O\FTHSEHHGSLI

OILIN(HSSLDNEST B60&H&60TEH GMILILIGHET CoiTa:

SHNev emUNENILD AHSOSTIHEUD(E)

RDSHSS6T RIDNTES GleWewor

a) @8Ye dplybenio,
wserllemens asmAHELILIT

b) eesmamybenD, LGTYLIOLIWT, ewkiGsTsT eflsneaphnl

swkiGasner  eflewesrepom,

C)  asmMADOLW, LGITLUIOLWIT, eNENETSASTEDS

d) wpohmibew, wselmes OsTHDHOLWT, eSiDedn
eflewetaphm

e) L egfweisenen

L@US 2 mILNe088601D HHembLiLjLi NefTeubd e\&mhserfled

gflwner L9fgs1semend: SevorLpls.

3) Sbiis = D+ 5+ 5+ D

b) ewLus =il + & + &+ S

C) SiwEss = Jlews + & + A

d) esuis =680+ +8+

e) eflenL eFfweiseneo

sflewL&BHMHD eflevTmeneuss SHevorLe.

SeoILLLLD er@LILGmenlLE OFSILLLD 6I(BLILGI SHLQ6vTLDT6uT

uemflwn@Lp.

a) SepriuLb a@ELUSETEIL eLILLD aBLILS SQesTLDeD
uewflun@&Lh?

b) SeriuLb aGLUSmETEIL fBSILILD aBLILS
SIQETILDITENT LI6TofllLIM@GSLD?

C) SevmiuLb a@LUSeTEIL Sieuioneor Liew 618)?

d) SewpuuLb a@UUSeTEIL FalaIMSILLD aBLILG
SIQETILDITENT LI6TOflWIT@GSLD?

e) oL egfweisenen

C\&HM&E\EHTES SalbL|LD LI(HeusS S LDHMSET

&F6\5168 §55 D58

- @6&oruTeied Luletm) uBLD Dewofl wing)?

a) aBSEIGSHMB 2_euenLDwewsi]

b) 2 _eenwenf

C) g ewmhsevew

d) ewunmer WetreumBemeowewsi

e) oL egfweiseneo

neeuisEGar! 2 msEpsGs SHEmL QeoemeoGWn? - 6 6o
eflesreyLb efleori

a) o efleorn b) welenm C) osnewL eflesrm

d) aeued efleomm e) dfevL asMweisbeneo
sflenL&Bxm efleneneus Gsiis:

“Brows Newfluimed eumHHSIETEONT er6dT
GBI S6ENETH FlesCH6T

a) Brew el erg?

b) GmiT2 ms sewrLNe aetTETEUTGLD?
C) Brew el geir eumSnaI?

d) wnenns s 2_aend HesSNE?
e) eflenL egfweissneo

67.

68.

69.

70.

71.

72.

73.

OUINBSSIS:

A. elemenigaBnens: 1 mredlges®

B. o aemwsasnemns 2. eFwesHed

C. o bewbgasnema 3. uesereumil Guélewteir

D. Senewnfsesnens 4. wHupsid
A B CD A B CD

a) 2 41 3 b) 4 2 1 3

c) 314 2 d 2 3 4 1

e) el egfweiseneo

OILINIhSSI%:

TBSHBIHHMT BHEBLET Be0&HSHEWIGHENSLI CIIMTHSSHIS5:
B60&:5600TLD GEENEANG)

A. BLESILESH6 1 Beob

B. ®&ewesen 2. &6 spefl eubgTest

C. wrugeold 3. un

D. @eovdaempenLwg 4. Gewpeuetig CHibBSMT
A B CD A B CD

a) 31 2 4 b) 2 3 4 1

c) 2 41 3 d1 3 2 4

e) eflenL egfweiesneo
Beosses GOILL Sifls. urieuied | & || 2 Ler OLmpsSs).

U iewied | uewieo
A. o MsagmpamnLit 1 &LPaPEd
B. eflemenigasnens 2. sfgw
C. mpesLL erdiinenmn 3. HLEWS

ALIWE\TEFFLD
D. eenevellens SemoluenL 4. saeurm

A B C D A B C D
a) 21 3 4 b) 3 1 4 2
c) 1 3 2 4 d 4 1 2 3

e) L egMweiseneo
agifiBemeo eflememaaamevedletr LGS
a) Semevenw 2 auigHD D) snevsmss HMGL
C) sLLewel OUNEBef6d auHD
d) @Lsmss enssbd
SHBSSTEUNS EWIWIT HH6DEONS \FMDHADMT
a) SmeeTEnseIL LIRSS LT

b) swuenests Yol Lt

e) eflenL azfwsiicoemen

C) esresTIWmNES OST (G 26wt
d) mretr semLDWED HHBMEST

e) eflenL egfweissneo
sflewL&CHHM sfevmenets; Gsiis
“@uifieyb NHLWSED BHLTeeey”
a) @wuug ag?

b) mbumesemey erlIOLTWRE LWESD?
C) Sumstayb WHLWILEDE aeveu?
d) eewer AHLWESD?

e) oL egfweiseneo

aemhaefle auemassemeTLl OLIMKBSSBS

A. smbml, Leoens 1 euwis Sieemhast
B. euimi meosmey 2. eI O\FTH&6T
C. &weolb, LeigLilb 3. euwi SubeETHEeT
D. Gsewfl, embmid 4. Sewes O\FTHSHET

A B CD A B C D
a) 3 21 4 b) 1 3 4 2
c) 31 2 4 d 1 4 2 3

e) eflenL egfweiseneo
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74. SpsseiL aunsHwnseme seuel: 81.
sgapm A 2 WiFeTOILENL  CUMSBSHERET  Q6iTm)
BetrevllenFwenaLIemL epeiTm)

LDTSBEDIWITES 60l6ELD.

eflensad B : asliyefled gewe empwns Gungib Gesiw

BmFsHsNEH JNeMOLGLLS BetTellenFwenelLenL 82.

a) A wpmb B @ueim@ . Goeyb Ase sflwmen
eflensaLNELD

b) A wibmub B @rem®id seumy

c) A sfi B sam. Goayb A 6@ B sflwner eferssietim

d) Aseum B &ifl. B sienssssie aunmssioner o A
SiemLbiefledemen

e) eflenL eEfweieeneo

75. eflenL&GsmD efemeneis CoHHOSG:

‘susiT@peuemeTLl OLHNSTEd OLHMBCS LSLD emeuwSGLD’ 83.
a) eusTEBEIEHEIILI QLIS Wi?

b) eweuwsbd wrewrl OLHME?

C) epaWSLD YsSLOLDDE TSH6TTE0?

d) epawswb OuHD LsD eHI?

e) eflenL egfweiesmeo

76. a6l wpeit GBI CUBEUGILD SH6vfl (Lp6iT BewT SUBHEUGID
a) sedgsemen b) eedssmen 34
C) Quhst ceuetoremen d) e ceuetoremen '
e) eflenL egfweisbeneo

77. eflenL&GsmM eflenmeneusCaiia:

“BLLeenTS OEMp HLDefewer HTEGL” 85
a) mLLewen etetTent FUIL CouetoT(BLD? ’
b) mib Seflener Brius HNLd e6itenr OFUIW GeueTBLD?

C) mHLbENEnETT HLDEHLD T6HTER EFUILLD?

d) e wmi?

e) eflenL egfweieeneo

78. “LLriQuieT SMemeT Lilg LITEDd SHDa&E@BLD Heoed L Geuener SeAlIma]

SiWh” BULTL6Nld Seaeaflsd BLbOLDMI6TET OLTHETEHT6T
auensulenenr CsiHES®.

a) SigwribmbmI ELM®ETGETET 86.
b) qanen® saL@LOLNmsTESTT

C) ewmprhmi OLMBETGsTET

d) efibLpr®l eLmmeGaeT

e) L egMueiseneo

79. Yeirau@d OFUIWET DREBEHSGS 6HTO&SLILLGETET
REDFHEBET EILITIBSSLDNETS| 6THI616U6VTS SETOTLMNG :

a) ewnehEyID HAGD WPSSID eiTesA - OFLILeD 87.
b) @uwss WL G QUEsD - Diseae
C) GumbmiFed etelTLE  LeTTIHSTERL!
LNflwimemnto - gl6iTemed 88.
d) 2 eosb wWEPEID HIAPET QUTESHEILD
e) oL egMweiseneo
80. ewnmsgis.
A, @GeDl eungLeLwr 1. DIREOSTSS
B. 86eMd fpiyl euwim 2. upewey
C. angewrl ewmgieuwi 3. &1®
D. angewre Apliyt euwir 4. uemewr
A B CD A B C D
a) 3 2 1 4 b) 3 1 4 1 89.
c) 3 4 2 1 d 2 13 4

e) L egfweiseneo

‘OpBamun’  eetm  efennelh@l uTGGeueT  eretTm)
sflemLwerflgze0
a) GmieflenL b) @emawomf eflewr

C) 2w 2 oSS eflemL

d) o meus seped eflem.  €) eflemL OEMwefisdeneo

QUINHSSIS :

A.  &Sts 1. SetrerflemFwenoLIenL

B. e preim 2. @DhoeTelLenL

C. e ewmugme 1b 3. 6FmevedlemFweTEILIEHL

D. o pemems® 4. eslweflens weTaLsmL
A B CD A BCD

a) 2 1 3 4 b) 2 41 3

c) 31 4 2 d 3 4 2 1

e) oL egMueiseneo

sflewL&ECHEHD sfenrmenets Gsiis.

“&0wrt Spullenid smp 2 eon”

a) smp 2 ewnss Geuesm®BLD - g6ir?

b) &£Gwnit eiLe Bmss CausuBL?

C) &GwpmiLb eniLigl Gus CaueoiBLL?

d) &Gt mettenip 615)?

e) oL egMueisenso

@ auneflesr setTemenul NDSLILIGSSS Famieus)
a) shePlGubn Sewll b)) Qe mebd Diewf
0 2 wiey mefiHd Sievof d) 2 euemio Siewofl

e) dfleL egfueiseneo

sflewL&CHMHD sfevTmenes Csiis:

“Gaimhg Lmmefetr Benmsett SmGLesh

FTSEL BWIT SIEDEOSTEN erleurmetr”

a)  ypnelleir BenmES FLTE HTEFEH G656 OFISMEH?
b) ymrefieir O\EweD eT6tTERT?

C) BmCwef rigs aeie OFuIGTEN?

d) sgieonsGaneded nlwgned eflewenhg LG a6tTen?
e) L egfueiseneo

“LiesryLeILwIT” -eretTLIGEST Eflwinenr Revsaeur eflen&sESHITE:
a)  6CUETITETOILD, EUIRAILD, DHENTEY, GETTILD ETEHTLIEUNENME
&MSHI UG

b) euasmELID, CuETTETSMSWID LG GMIGS cUIHLD
C) SleTemauLd, GEISESWID LB GMSE (B
d) a&neowb, OEMPEL BreETTTEOLUID SIS EUHLD

e) L egMueiseneo

OUNBBSTEM5S CHHEISE-

a) Qubesmed b) demssasmer ) @ewLEOETED

d) &fesned e) sfienL asMweisbeneo
QLINBSSIS :
A. @ueédb s Letoriigdl 1. ewmHuewngeir
B. Gameirmed sflemyd 2. snileneo
C. es@s6d eflsmmb 3. gGeurm
D. Sgeb eflsmmb 4.  eumett LDEMLD

A B CD A B CD
a) 31 4 2 b) 4 1 3 2
c) 41 2 3 d 2 3 4 1

e) L egfweisenen
Spsanemb OFThaeled OSTHAMEILILIT SiEDEONTSHmS Sis.
a) Slpes

b) egneeneo c) Gunss

d) estwems e) sfienL asMweisbeneo
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90.

91.

92.

93.

94.

OLNEHSTSHMSS CHTHOSE. GLe)

a) ewrd b) smeued C) saremibwimeDT
d) wves e) eflewL aiwesfleoeneo

SEUDNE OILINIBHSWI6TOTS| 6187

a) mdetysLp - efeneISaSTEmS

b) wpsseo - efwrGsme eflenentdphm

C) esTwsaNt - ENEETMEIEMETTILID EWIWIT

d) seopsewi. - GrewiLnb GeubmIEnLSNSTENE
e) oL egfueiseneo

OLNBSSIS (@B6e0ss6m18 GSMILIL)

A. caifrudenett 1 enpmb CeubmIEHLOSE\STENS

B. euneusit sremL 2. [Erenianb Geubmiennsa\STens

C. Geuevsir oa6tT 3. IHombd GauDMIMLDSESTEnE:

D. emauysd 4. @hsnd CalbmIemDsasTans
A B CD A B CD

a) 321 4 b) 4 3 2 1

c) 3 4 21 d1 3 2 4

e) eflenL eEfweiseneo
aur 1631 E\&FMELEdl6IT LIWOTEFLD GHIILNBS

95.

96.

97.

98.

99.

100.

c) 4 21 3
e) eflenL egfweiesneo

d 132 4

QLIWITEE\ETE060l65T 6uema: M. ‘GaetoremLo”
b) @Luewuwir
e) eflewL aiwefleoenso

a) eewOLwWIT C) smeorEWwIT
d) dewewriOuwi
‘Qaen’ erettenItd Geuriga\amevedletr elleneTOLETSMES CaiTa:
C) esetimeusst

a) ewetm b) essiimy

d) eeetimnesr e) eflenL agMwelicosmeo
GeuenTUNefl6tT Bev&HHMEMS (LPSeAID SpAflwiiuimesssr
Bev&:86m15605 FHPIND OLIDMI 6uHeSI

a) Qewewr@meT SpAMWILIT
b) seduium c)
d) empsteesr asmgimn  €) efenL asfwelisoemen

LDEBLLIT

sflenL&B@shm eflemeneus Gsiis:.

‘D6iTEmIUaTé E186060MLD 6UMLD LOTLDSTEHT

a) wetreyuifletr LiwetT e6tTEwI?

b) werEUINTEES Qb e1g?

C) o aEHES LwETUESEDE?

d) mb eupon@LT?

e) eflenL egfweiesneo

OILIWITE Q160606 EUME: ANTGE0 HeMEUTLIEOLILINTS GSMSSLD
G\&FMDS6IT WIMem6U?

a) GaLLed, LIRSS b) &nemeo, wrewed
C) b, &evor d) oneupssr, ewes
e) sflenL egMwelsbeneo

wmlesll HBSSDET SDMIT6T - ET6UEUDES EVHTLIT?

a) seielleneus OSTLIT b) Ypeiemers OGmLiT
C) esuellenes OSTLIT d) eagieflenens G
e) sflewL esfweiseneo

General English (100)

a) eubgnsir b) eubg C) eumsed
d) ems e) eflevL agiwefleoenso
Beosgis@fiw 2_MliaunmeT SHembs slevLenwis GHILILIBS.
Beold 2_flueumdpsit
A. ewmeo 1 omed
B. &m® 2. SUmise
C. euwed 3. Lewriged
D. s&Led 4. BmEz60
A B CD A B CD
a) 3 4 21 b) 3 4 1 2
Rain fall

a) Noun+Noun b) Noun +Verb

c) Noun +adjective d) Noun + adverb

e) Answer not known

Which of the words given below can be placed after
the word swimming toform a compound word.

a) fast
d) pond

Over coat
a) Verb+ Noun

b) water c¢) pool

e) Answer not known

b) Adjective + Noun
c) Preposition+Noun d) Noun+Noun
e) Answer not known

Synonyms of erratically

a) Without error

b) Judgement

c) Protection

d) Unsteadily or unpredictably

e) Answer not known
Sun + light

a) Noun + Verb b) Noun+ Noun

¢) Noun +Adjective d) Noun +Adverb
e) Answer not known

6.

N

10.

11.

Helen’s teacher

a) Anna b) Sully

d) Anne manifield sullivan
e) Answer not known
Which of the words given below can be placed after
the word Snow to form a compound word.

a) rise b) wash c) ball

d) tall e) Answer not known

Synonyms of squirm

a) To twist the body in discomfort

b) To comrince c) To protect

d) To fight e) Answer not known

Hair cut

a) Noun+Noun b) Noun +Verb

c¢) Noun +adjective d) Noun +adverb

e) Answer not known

c) Mabel

Inthe year Presisdent Johnson awarded keller
the Medal of Freedom.

a) 1954 b) 1959  ¢) 1964

d) 1969 e) Answer not known

Black gold

a) Noun +adjective b) Noun+ Noun
c) Adjective+Noun d) Adjective + Adjective
e) Answer not known
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

Computers are and

a) Happysad b) Slow useful

c) Fastuseless d) Brainyand smart

e) Answernot known

Output

a) Verb + Verb b) Noun+ Noun

c) Adjective+ Noun d) Adverb + Verb

e) Answer not known

The word ‘essential’ means:

a) unnecessary b) prabable c) Possible
d) necessary e) Answer not known
Which of the words given below can be placed after
the word white to form a compound word.

a) blue b) cat c) wash
d) snow e) Answer not known
Cricket + ball

a) Noun+Noun b) Noun +Verb
c) Noun +adjective d) Noun +adverb
e) Answer not known
Synonyms of gobbled

a) Hate

c) Ate hastily or greedily

e) Answer not known
Fatherin law

a) Noun+Noun

b) Noun +verb

c) Verb + adjective

d) Noun + Preposition + Noun
e) Answer not known

The computer forgot to

a) Find b) Eat c) Save
d) Delete e) Answer not known
Helen entered Perkins school at

a) Boston b) Alabama c) Tenesse
d) Virginiae) Answer not known
Mountain + trekking
a) Noun +gerund

¢) Gerund+noun

e) Answer not known
Which of the words given below can be placed after
the word cup to form a compound word.

a) time b) board c) say

d) bite e) Answer not known

My computer has always been so brainy and smart

b) Grudge
d) Find

the poet’s work.

b) Noun + adjective
d) Adjective + Gerund

It seems to know mountains of information by heart.
If | type in a question, and give my mouse a click,

My computer always gives me the answer really quick!

Pickout the figures of speech in the lines.
a) Simile b) Personification

c) Assonance d) Oxymoron

e) Answer not known

Black + board

a) Noun+Noun b) Adjective +Noun
c) Adverb+Noun d) Verb+ Noun

e) Answer not known

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

Which of the words given below can be placed after
the word air to form a compound word.

a) conditioning b) fill c) loss

d) cool e) Answer not known
Mother in law

a) Noun+Noun+Noun

b) Noun + Verb + Adjective

¢) Noun + Preposition + Noun

d) Noun +Adverb

e) Answer not known

Which of the words given below can be placed after
the word fast to form a compound word.

a) train b) car c) boy

d) food e) Answernotknown

Who is the speaker of the poem “My computer needs
a Break?’

a) ThePoetess b) Scientist c) Engineer

d) child e) Answer not known

Which of the words given below can be placed after
the word sun to form a compound word.

a) bite b) light c) fight
d) gate e) Answernot known
Post + card

a) Noun+Noun b) Noun +Verb
c) Noun +adjective d) Noun +adverb
e) Answernot known
Hellen keller father

a) Arthur. H. Keller
c) Arter Keller

e) Answer not known
Which of the words given below can be placed after
the word type to form a compound word.

a) fast b) correct c¢) write

d) slow e) Answernotknown

Who is an award winning author of Children’s litera-
turein English in India ?
a) shanthini Govindan
c) Ruskinbond

e) Answer not known
Engine + driver

a) Noun+Noun

c) Noun + Adjectived
e) Answer not known
Synonyms of brainy

a) Very intelligent

c) Besmirch

e) Answer not known
Which of the words given below can be placed after
the word dream to form a compound word.

b) Art Keller
d) Heart Keller

b) Gleve Patel
d) None of the above

b) Noun +Verb
d) Noun +Adverb

b) Allure
d) Brave

a) now b) sleep c) never
d) land e) Answernot known
Bus + stand

a) Noun+Noun b) Verb + Noun
c) Noun + Verb d) Verb + adjective
e) Answer not known
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38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

It seems to know mountains of information by heart.
a) Alliterationb) Assonance c¢) Simile

d) Hyperbole e) Answer not known
Underestimate

a) Preposition + Noun
c) Adjective + Noun
e) Answer not known
Type + write

a) Noun+Noun b) Verb + Noun

c¢) Noun + Verb d) Verb + adjective

e) Answer not known

Which of the words given below can be placed after
the word foot to form a compound word.

a) pain b)) ball c) hall

d) room e) Answer not known
Garden + flowers

a) Noun+Noun b) Noun +Verb

¢) Noun +adjective d) Noun +adverb

e) Answer not known

Synonyms of dreadful

a) unpleasantb) Pleasing c) Pleasant
d) Happy e) Answer not known
Which of the words given below can be placed after
the word sky to form a compound word.

a) flight b) plane c) game

d) blue
Rail + road
a) Noun+Noun b) Noun +Verb

¢) Noun +adjective d) Noun +adverb

e) Answer not known

Keller became proficient in

a) Tamil b) Hindi c) Arabic

d) Braille e) Answer not known

Which of the words given below can be placed after
the word earth to form a compound word.

b) Preposition + Verb
d) Adverb+ Noun

e) Answer not known

a) sail b) mud c) quake
d) flash e) Answernot known
Mouth wash

a) Noun+Noun b) Noun +Verb

c¢) Noun +adjective d) Noun +adverb

e) Answer not known

Synonyms of absent-minded

a) Smart b) Astute

c) Being forgetful d) Appear

e) Answer not known

Which of the words given below can be placed after
the word car to form a compound word.

a) street b) park c) house

d) top e) Answer not known
Alliterated words:

1) Save - double

2) Doctor -  most

3) Virus -  store

4) makes - very

A B C D A B C
a) 3 1 4 2 b) 2 1 4 3
0 1 2 3 4 d 1 4 3 2

e) Answer not known
52. Good for nothing
a) Noun + Preposition + Noun
b) Adjective + preposition + Noun
¢) Adjective + Preposition + adjective
d) Adverb + Preposition + adverb
e) Answer not known
53. Which of the words given below can be placed after
the word walking to form a compound word.
a) ground b) stick c) toy d)
man e) Answer not known
Comprehension (54 - 57)

Discipline is the most essential virtue you should acquire
when you are young. It is a complex quality. It shapes your
mind to religious, social and economic patterns when you
grow up to be an active citizen. At a young age, we do not
realize the value of discipline, As children, we merely long
for unlimited freedom, without understanding the mean-
ing of discipline. An athlete disciplines himself and keeps
himself ?t. He refrains from smoking, observes good food
habits and keeps good health. Discipline increases the
human energy and implies control, resistance and adjust-
ment. Our energy is saved and made vital for a good
output.

54. Discipline should be acquired whenwe are
a) old b) mature c¢) young
d) adult e) Answernotknown

55. How does discipline aid a citizen?
a) Itshapesyour mind to religious patterns
b) It shapesyour mind to Social patterns
c) Itshapesyour mind to economic patterns
d) Allofthese
e) Answer not known

56. What do children want?
a) They want power b) They want Freedom
¢) They want energyd) They Want love
e) Answer not known

57. Howi s discipline beneticial to human beings?
a) Increases energy b) Decreases energy
c) Energyis utilized d) Energy is wasted
e) Answer not known

Comprehension (58 - 61)

Once upon a time there was a rich merchant. He was
returning home from work. He brought along with him-
self a large sum of money he had collected throughout
the day. He was quite wealthy and valued money the most.
On the way he was trapped in heavy rainfall. He got total-
ly drenched and along with him his money also got wet.
He started grumbling and cursed the rainfall due to which
he had to suffer heavy loss. Sometime later a robber
attacked him. He could make out that he was a wealthy
man and was carrying the money. He was about to ?re,
but the gun did not work because the gun powder had got
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damp and was not working. Meantime the merchant got
achance to escape and saved himself from the loss of his
life as well as money. Then he realised that the rain,
which he was cursing sometime ago, had actually saved
him and his money. He then understood that whatever
happens, it always happens for the good.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

What did the merchant carry?

a) Smallmoney

b) The merchant carried a large sum of money.
c) large amount of money

d) little money

e) Answer not known

Why did he curse the rainfall?

a) He wastrapped in heavy rain fall

b) He got drenched

¢) His money got wet

d) all of these

e) Answer not known

Why could not the robber shoot the merchant?
a) The gun powder was damp

b) The gun powder was heavy

c) Thegun powder was old

d) The gun powder was new

e) Answer not known

The rain Caused a loss to the merchant
a) Slight b) light c) heavy
d old e) Answer not known

Whatever happens,happens for

a) bad b) betterc) good
d) worse e) Answer not known
Milk + white

a) Noun +adjective b) Noun+ Noun

c) Adjective+ Noun d) Adjective + Adjective

e) Answer not known

Which of the words given below can be placed after
the word day to form a compound word.

a) break b) night c) hot

d) strong e) Answer not known

Figure of Speech

It seems to know mountains of information by heart
a) simile b) aliteration c) consonance
d) Hyperbale e) Answer not known

Honey + sweet

a) Noun +adjective b) Noun+ Noun

c) Adjective+Noun d) Adjective + Adjective

e) Answer not known

Helen was inducted into hall of fame in 1971.
a) Tennesse’s b) Alabama’s c¢) New York’s

d) President’se) Answer not known

Family + business

a) Noun+Noun b) Noun +Verb

¢) Noun +adjective d) Noun +adverb

e) Answer not known

Which of the words given below can be placed after
the word time to form a compound word.

a) clock b) man c) table

d) top e) Answer not known

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

Air + ticker

a) Noun+Noun b) Noun +Verb

c) Noun +adjective d) Noun +adverb

e) Answer not known

Bus + stop

a) Noun+Noun b) Verb + Noun

c¢) Noun + Verb d) Verb + adjective

e) Answer not known

Which of the words given below can be placed after
the word school to form a compound word.

a) holiday b) near c) late

d) bus e) Answer not known

Figure of speech

And one day, my naughty computer

actually gobbled a worm.

a) Personification b) Metaphor c¢) simile
d) Alliteration e) Answer not known
Match the following: (Rhyming words)

1. Smart - quick

2. click - sight

3. right - quick

4. sick - heart

A B C D A B C

a) 4 3 2.1 b) 4 2 3 1
¢ 2 3 4 1 d 1 2 3 4
e) Answer not known

play boy

a) Noun + adjective b) Verb + Noun

c) Adjective+Noun d) Adjective + Adjective

e) Answer not known

Which of the words given below can be placed after
the word black to form a compound word.

a) liquid b) board ¢) night

d) tongue e) Answer not known

By stander

a) Noun+Noun b) Preposition + Noun

c¢) Noun +adjective d) Noun +adverb

e) Answer not known

Which of the words given below can be placed after
the word talk to form a compound word.

a) Loud b) silent c) time

d) phone e) Answer not known

Head + teacher

a) Noun+Noun b) Noun +Verb

c¢) Noun +adjective d) Noun +adverb

e) Answer not known

Which of the words given below can be placed after
the word wind to form a compound word.

a) screen b) spread «c¢) let

d) heavy e) Answer not known
Cat + walking

a) Noun +gerund
c¢) Gerund+noun

e) Answer not known

b) Noun + adjective
d) Adjective + Gerund
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82.

83.

84.

85.

86.

87.

88.

89.

90.

101.

102.

103.

Which of the words given below can be placed after
the word bread to form a compound word.

b) toast c) jam

e) Answer not known

a) winner
d) egg
Crime + novel
a) Noun+Noun b) Noun +Verb

c¢) Noun +adjective d) Noun +adverb

e) Answer not known

Which of the words given below can be placed after
the word dining to form a compound word.

a) house b) hotel c) park
d) room e) Answer not known
Under world

b) Noun +Verb
d) Noun +adverb

a) Preposition + Noun
c) Noun + adjective
e) Answer not known
Which of the words given below can be placed after
the word nail to form a compound word.

a) cut b) pain c) polish

d) colour e) Answer not known

The poet feels that his computer needs
a) Aholiday b) A kickstart c) ACPU
d) AnUPS e) Answer not known

Money + market

a) Noun+Noun b) Noun +Verb

c) Noun +Adjective d) Noun +Adverb

e) Answer not known

Which of the words given below can be placed after
the word fire to form a compound word.

a) hold

d) wheel
Snow + drop
a) Noun+Noun b) Verb + Noun

c¢) Noun + Verb d) Verb + adjective
e) Answer not known

b) proof c) pocket

e) Answer not known

91.

92.

93.

94.

95.

96.

97.

Which of the words given below can be placed after
the word under to form a compound word.

a) off b) pecked c¢) hearted

d) ground e) Answer not known
Book + binding

a) Noun +gerund

c¢) Gerund+noun

e) Answer not known
At the age of __
Radcliffe college.

b) Noun + adjective
d) Adjective + Gerund

keller graduated from the

a) 23 b) 25 c) 24

d 22 e) Answer not known
Synonyms of vanish

a) Allure b) Disappear c) Problem
d) Children e) Answer not known

Blue + whale

a) Noun+Noun b) Adjective +Noun

c) Adverb+Noun d) Verb+ Noun

e) Answer not known

Which of the words given below can be placed after
the word penny to form a compound word.

a) hold b) dose
d) worn e) Answer not known

Air + blowing

a) Noun+gerund b) Noun+Noun

c) Noun +Verb d) Noun+ adjective
e) Answer not known

c) wise

98.The computer actually gobbled a

99.

100.Helen entered

a) Boy b) Worm c) Girl
d) Cat e) Answer not known
Tooth + ache
a) Noun+Noun b) Verb + Noun
c) Noun + Verb d) Verb + adjective
e) Answer not known

college in 1900.
b) Radcliffe c) Clement
e) Answer not known

a) Cliff
d) Radisson

Aptitude (25)

Find the square root of 121.4404

121.4404 G611 6UI16:8 ELPEVLD SHIT6T0TS.

a) 11.02 b) 11.12 ¢) 1102 d) 0.1102
e) Answer not known / eflenL aisflwefisosneo

A troop has provisions for 276 soldiers for 20 days.
How many soldiers leave the troop so that the
provisions may last for 46 days?

276 dlipiaen 2 6en @@ ULLTNSHd 20 HILSEHSHS
BHEMEUITETT FEMLDUIED EILITIBLSHET _6T6MF). HbS CWINIHLE6T
46 B SEHEES Blpdhs CeucitrB6ILo6l6d 6185emen eiasT Qhs
LI LTenSens eflBF 6176060 GeuetorBLD?

a) 137 b) 156 c) 167 d) 175

e) Answer not known / eflenL aisflwefisosmeo

. . 2 1 2 5
Simplify / smées : S| S s

104.

105.

130 120
2 Tes 168
e) Answer not known / eflenL aisflwefisosnen
The area of the trapezium, if the parallel sides are
measuring 8 cm and 10 cm and the height 5 cm is(cm?)
o wpb 5 616.15, BemewiliLssmisafien Siereyse wpenpGuw!, 8
61&..52_1b, 10 61515 2_1b e\&netorL sileuagdett LmiLeney. (615.15°)
a) 55 b) 44 c) 54 d) 45
e) Answer not known / eflenL aisflwefisosnen
Kuzhal’s mother makes dosa by mixing the batter
made from 1 portion of Urad dhal with 4 portions of

rice. Represent each of the ingredients used in the
batter as percentage.
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1 UMIG 2 @BbHSI LDMeL6l 4 Lki@ Siflél seobs refled, GLpsd
erssrueurfledt smumt Ggnens swimflgdmnt eresfled, refledmé@id
EPEOLIOILINBETEHENETE EHEHLONSHS GMISSALD.
a) 20%, 80% b) 25%, 75%
c) 10%, 90% d) 15%, 85%
e) Answer not known / eflenL aisflwefisosmeo
106.In a flower garden, there are 23 rose plants in the
first row, 21 in the second row, 19 in the third row
and so on. There are 5 rose plants in the last row.
How many rows are there in the flower garden?
R LHHECSMLEH (pged auflensuled 23 Grmmng C\Fipse,
BuevorLmid eurflemauileo 21 GrmgRng O\&1p&6T eLpesTmILD eurflemaudied
19 GUrRng Q\&FI&6T 16D (pemmufed GImeng O\FIR&6T @(h
egmLieuflems SewmwLifled 2 eitenen. senLdl auflemsuiled 5
Gungng OFiessT QBULN6T, JLLHEESTLLSS6 6155 ment
suflenga6 2_siternesr?
a) 15 b) 13 c) 10 d) 17
e) Answer not known / eflenL aisflwefisosneo
107.Find the smallest number that can be divided by 254
and 508 which leaves the remainder 4.
254 ppmitb 508 SpBw eleTTISHETTEDd QUGHSID CUNg) BHWINe:
4-2@5 SHID SFABI ETETTENETTE SHT6T0TS:.
a) 518 b) 516 c) 512
e) Answer not known / eflenL aisflwefisosnen
108. Find the area of the semicircle ACB and the quadrant
BOC in the given figure.(cm?, cm?)

d) 514

uLGPed Qan@aalLLL oo eur b ACB whmib &med eurLib
BOC @eir uptiLenemeus sneturs.@&.15%, 61&.157)

A

C

B

a) 46, 28.5 b) 40, 32
c) 77,38.5 d) 78.5, 33.3
e) Answer not known / eflenL aisflwefisosneo
109.Vicky borrowed Rs.26,400 from a bank to buy a
scooter at the rate of 15% p.a. compounded yearly.
What amount will he pay at the end of 2 years and 4
months to clear the loan?
6168 Qb svdnlLenT auMmhis @b auiBuiled ¢5.26,400 &
SLEAMSLI EWDDIIT. Sp6601B 6uL'lp 15% 6figd Sp6eTTEILMTETNISES
QUL IEEDUIEF CHFISSTE0 2 DLETOTBSH6IT 4 LDMSRISHET Dh6vT LN6IT H6dT
SLEDET JEDLES QT a6l 6156355 GeustorBLD?
a) em. 46,459.70 b) es. 36,659.70
c) ew. 56,659.70 d) em. 47,559.70
e) Answer not known / eflenL aisflwefisosnen
110.A dog is climbing down in to a well to drink water. In
each jump it goes down 4 steps. The water level is in
20% step. How many jumps does the dog take to reach
the water level?

MG BT seauwewT GSRUUSHSTS. @b SHevrHies
L& s @aerlled BT Gells &H5816 SWPDhIBIIE. RmHSTeuedleo,
4 LRSELBHMETE SLESH. JbHsH Sevmbne Bl LSS
SieLW 20 URSET BHHSTE0, b B THSEME LPEHM
SeleE@H58! HevT HOLHEHHBHSLD?
a) 4 b) 8 c) 5 d 6
e) Answer not known / eflenL giwefisbensd

111.The total surface area of a hemi-sphere is how much
times the square of its radius.
R SHWI&HEBHTENSH6EH CUDMSSLILITLIL| HSET SpTSSenIEHLILI
QUMTEEHSHE0T —-—-—-— LDLIBISTGSLD.
(L 3

9 3 4 -

a) .= b) 3n 3

e) Answer not known / eflenL aisflweficosneo

112.The difference between a number and its two third is
30 more than one -fifth of the number. Find the num-
ber.
KB ETERTETTDESLD, DHH6T eLpetTNN6d BI6toI(®B LOLMKIBDHESLD 2_6iTer
6fl$SLNFDT6EOIS), SiS65T EbPed (I LIS el 30 Hsd
6160160, B ETETINEHEMNE: HTETTS.
a) 245 b) 225 c) 215
e) Answer not known / eflenL aisflwefisosneo

d) 235

113. a__n_b_ _ncb__ncb
a) abbbcc b)  abchcb
c) bacbab d) bcabab

e) - Answer not known / eflenL aisflwefisosmen
114.The second term of a geometric series is 3 and the

4
common ratio is. E Find the sum of first 23 consecu-

tive terms in the given geometric series.

R OLGSHSS OBMLM6O SrevorLmeug 2 il 3 DHMILD Digedr
4

oung &z 5 aefled, sal®s QOFmLMeysTer WPpFH6L

2 muNelmbg asnLisdwns 23 2 mluysefien sa@geo

SHTEH0T8.

25T e G
o 22w 2 (2]

e) Answer not known / eflenL aisflwefisosnen

115.A shuttle cock used for playing badminton has the
shape of a frustum of a cone is mounted on a hemi-
sphere. The diameters of the frustum are 5cm and 2
cm. The height of the entire shuttle cock is 7 cm. Find
the slant height of the frustum (cm)
R BDGLILBES6T, GHLDLD FaldlN6tT SBenL &6t culgefley|d,
SPUILDLD Hewr&Gaern euigefleyid 2 eiTeng). SewLs SHevurLsBett
Al LMRISET 5 61815 bHmILb 2 61815 Sp&eid SNGLIHS6 1M
2 wrb 7 6515 Spseid SmsGneTe, &L LbdHes
FMIISHDSS SHewors. 18157
a) 6.18 b) 6.05 c) 7.28 d) 5.65
e) Answer not known / eflenL aisflwefisosnen
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116.

117.

118.

119.

120.

121.

126.

Sulaiman bought 3.350 kg of Potato, 2.250 kg of To-
mato and some Onions. If the weight of the total items
are 10.250 kg, then find the weight of Onions? (kg)
&emeolbrett 3.350 8.4 2_(mewens S, 2.250 8.8 sesnerf
LDHMILD E\EUMBISMTILILD EUMTRIGSDITIT. EIDMSSLI QIINBLSerfledT eTemL
10.250 4.4 ai6tfled, OeumismusSet eremL ereueueney? (&.4)

a) 4.56 b) 4.80 c) 4.65 d) 4.90

e) Answer not known / eflenL e\giwefisbensd

A man takes 10 days to finish a job where as a woman
takes 6 days to finish the same job. Together they
worked for 3 days and then the woman left . In how
many days will the man complete the remaining job?
R CEuEmeLEDI (LI RIT DhetoT 10 [BITETSHEBLD R E1LI6TT 6
BIETSHEBHLD TESSIS O\STeTHETMETT. SHeUBLD CHFIHIH AHbHS
GeuemevemiLl 3 MHT6NS6T OFIS LING, Sibs CLI6TT GalsneosniLl
Al @& e\eeTmIeAESNIT. WBHLpsiTen Gouenevsnul Jibs Spewor
THSEM6N [B6TSH6red WplLILIMT?

a) 2days/mmsenb) 3 days/mm st

c) 4days/mmsen d) 6days/mmser

e) Answer not known / eflenL aisflwefisosneo

Find the smallest number by which 10985 should be
divided so that the quotient is a perfect cube.
109858 6 Llse AL 6TETTEINNTED UGS, FeY DH6TTH R
(P H6EVT ETEUUTEWNTGSLD 6T6VIE> SHTETOTE.

a) 5 b) 13 c) 65 d) 25

e) Answer not known / eflenL aisflwefisosnen

Study the following arrangement carefully and
answer the questions given below:

&0 QEM@&HsLULLL auflensamw Spule) AFUg CaLaslULL
Ga6TellaEns@ amm LB Slerllssabd
RES5DAPS3TIQ79B#2K%U1MW4 % J8N
Which of the following is seventh to the left of the
sixteenth from the leftin the above arrangement?
SpsaeTLauDMIEd 61 16 - ausns BLULNSH0 SoHE 7 -
CUSNS; EUELILMEBED NEMLDHII6TETEI?

a) A b) U c) 4 d T

e) Answer not known / eflenL aisflwefisosnen

The number of distinct prime factors of the smallest
4 digit number is

WassANWw 4 Geosa eletoTeniledn MMILILL LSS Sngevigeriett
CTETOTETON HEWS ..............

a) 2 b) 4 c) 6 d) 8

e) Answer not known / eflenL aisflwefisosneo

Find out the wrong term.

SEUDITEVT 6TETIMENETTE HEToTBLILQ.

4,10, 22, 46, 96, 190, 382

a) 4 b) 10 c) 96 d) 382
e) Answer not known / eflenL aisflwefisosnen

122.The number of bricks each measuring 50 cm x 30 cm

x 20 cm that will be required to build a wall whose
dimensionsare5mx3mx2mis

515 x 3 15 x 2 15 Senmeysiter @b seur eipLil, 50 61&.L5 x 30
61&.15 x 20 615.L5 616y E\BHMTETIL E\FRIBDS6IT 61556060 CHEweU?
a) 1500 b) 1600 c¢) 1000 d) 1750
e) Answer not known / eflenL aisflwefisosnen

123.Raju bought a motorcycle for ¥ 36,000 and then

bought some extra fittings to make it perfect and
good looking. He sold the bike at a profit of 10% and
he got ¥44,000. How much did he spend to buy the
extra fittings made for the motorcycle? (in Rs.)
&uns: 336,000586 @@ GrLLni essdamer aunmhid, g6
GambmL1 Qunedley HeiTE@ Sienbwiayd GaILD HetTdpenmuied
Bunsea|b feo @I LUTHHISMETL QOUTHSSeoTT. 1N6dTL
SibGwnrLn essdener X44,00068 10% QeomugHed
BTN eTevlled BHT LINHMIS6IT EUMTHISG ETEUCUETEY E1F6V6)Y
QFISMT? (ErpLmufled)

a) 4000 b) 2000 c) 1200 d)
e) Answer not known / efleL e\siflwefisbeneo

3000

124.The figure shown is the aerial view of the pathway.

Find the area of the pathway. (m?)
Sl BBeyeTeT LILLD, (b [bewL Litensuleir sunssraufla: sm 4 erevfled,
ABSLI Lmengullest LTLiLieney smeors. (57

80 m/8
0 q 70 m/is
el e
]
a) 1200 b) 1400 ) 1800  d) 1600

e) Answer not known / eflenL aisflwefisosneo

125.1f a clock strikes once at 1 o’clock, twice at 2 o’clock

and so on, how many times will it strike in a day?
B HREMIID (b ewllsS BB PO 2 Wenfléd Bk wpewm 3
LD6TOT18:¢ ELPEITIM) (LPEWID eT6dTEUTMI, EYSTLITHE) Filuime: speuareunqs
wenfls@D @60 LD erewlled , @ Hrefled JssRETTLD
TS5HEMETT (LPED 65l ETPLILILD?

a) 165 b) 156 c) 145 d) 154

e) Answer not known / eflenL aisflwefisosneo

General Studies (25)

Which Indian river orginates from a spring at a place
called Mahabaleshwar in the western ghats of
Maharastra?

a) Godhavari b) Krishna  ¢) Kaveri

d) Thungabathrae)Answer not Known

6bg SHAW FHWINTEsTE| LbSMITeQLNT MBeosHed _sitem GLHE&
OFTLIES emeoufled Lb&MLIGev6IgENIT eTetTn LiGSulled 2enmmas
2_meundms?

c) snGeurfl
e) sflenL agfwsficosmen

a) Gangmeu b) &meipewrm

d) grsusSIT

127.The imaginary line which connects the territories of

equal sun shines s

a) Isocryme b) Isobar c) Isohyet

d) Isohel e) Answer not Known

gwnen g @6flLEL LGSHmET BEMTTHGSLD HHLIENESIS:

Can(® 61517
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128.

129.

130.

131.

a) eGsnseD b) eGemumi C) &GsmemamLsv

d) e=Gsmase e) eflenL egfwesfleoemnso

Consider the following statements:

1. Coal miningin Meghalaya is done by family mem-
ber in the form of a long narrow tunnel.

2. ltis also called ‘Rat hole’ mining.

3. Government provide financial assitance to en-
hance such mining activities.

Which of the above mentioned statements is / are

correct?

a) 1land?2 b) 1and3 c) 2and3

d) Allthe above e) Answer not known

LNedTeu(BLD SaDMIHEMET HHSDEO C\SHM6ITS.

Beos e &@LU

2_mifeniaGer @b B GNIBW SFIHISLITENS ellgefled

1. Gwasneowmefled SOHISSHMS
2_([HOUNSHSS6IMEUTIT.

2. @s ‘a6l OLUNhg SIS 6N HEDPSHILGEDS).

3. @5 Gunelin &IMH& BLOIRSEMSSmeT GLLBSS
Sipsmmhisd B 2 sellenw auphHIGSDS).

Ghsamu sapmisefled eg) / eleneu siflwimerg)?

a) 1wpmib 2 b) 1 o 3 C) 2 wbhmtb 3

d) Guphsen. Smeasgd €) eflenL gMweileenen

Which of the following pair is incorrectly matched.

a) 6°channel-Indira point & Indonesia

b) 8°channel - Maldives & Minicoy

¢) 9°channel - Lakshadweep & Andaman

d) 10°channel - Andaman & Nicobar

e) Answer not known

SpSHHETEVLD 6THS BEDETT HOUDNEH ELITBHSIETENTSI?

a) 6° smeoaumil - QST wevet & BbCHTCeTAWI

b) 8° amebeumis - breosSey & LileaflEHML

C) 9° smeaul - 6OLES5ER & HESLDTEDT

d) 10° smebeumii - SimBLoMeHT & BEGSTLMT

e) L asfweiieoemen

In which one of the following states the tropic of

cancer is not passed through?

a) Madhya Pradesh b) Bihar c) Tripura

d) Mizoram e) Answer not Known

S&ETERID 6ahg WNBesde afluns sLECIms SLbS

6156060611606MED?

a) wedwlipGss> b)) s c) Sfyon

d) wGsmmD e) oL agfweiicoemen

What is the coverage area of the Deccan plateau

andits shapeis?

a) 5lakhsqg.km & square

b) 7lakh sq.km & Triangle

c) 5lakhsqg.km & square

d) 7lakh sg.km & Triangle

e) Answer not Known

Soaieur 1SLLpL ereusueey LTLILIeTER6d SHmewrILBADE). GLosyLd

SIS6BT QUIQ6ILD 6T6dTETT?

a) 5eors 5.48.5 & sgmbD

b) 7 eorsib &.8.18 & (ps&Gamewrd

C) 5 eors 5.48.5 & sgmbd

d) 7 eoreb 5.8.15 & wp&Gaewond

e) efenL agMwelicosmen

132.

133.

134.

135.

136.

Which state of India was affected by the most
devastating and strongest strom in October 19997?
a) Bihar b) Odissa c) Kerala

d) Guijarath e) Answer not Known

b5 @hSw nBeonerg H&ECLIUT 1999-60 BabS
SiPeSHILDTENT DHMILD 6ueYIeUT6NT LjieNlenTed LITS&aLILILL &7

a) Ssm b) een c) Gapemm
d) o=ms e) eflenL egfwefleosmneo
Choose the correct statement/s from the followings.

1) The Brahmaputra river orginates in Tibet and is
locally known as ‘“Tsangpo’

2) Before entering India, it cuts through the bist
Jalandar gorge and enters the Sikkim Valley

a) lonly b) 2 only c) 1&2

d) None e) Answer not Known

SpssneLeubleo SmbE sfluiner saheons Csitey O\FIs.

1 OmbwysSm Spm ‘EmRGU’ eelTm OLIWGLET S61LGS0
2_maundms.

2. @pIwnhGeT mEOPWID dpeir ‘1Nevr  ReoBST
LI6TEMTSSMHMmE 2 (HeUNEHE D6VenD LI6TeTSSTs 860
BIEOREDS).

a) 1L b) 2 @i C) 1whmib 2

d) gsueoemeo e) eflewL egiweficdsneo

Match (Biosphere Reserve)

A) Dibhrusihkova 1. Odisha

B) Simlipal 2. Assam

C) Nokrek 3. Madhya Pradesh

D) Panna 4. Meghalaya

QuUNmSEIs @ uliis@smeTs SMLILISLD)

A) 8L eEiesTaT.  QuET
B) dibeSlumed 2. Sigmb
C) mrsems 3. wsHw LIICssD
D) uebresrm 4. Gsmeowit
A B C D A B C D
a) 4 3 2 1 b) 3 2 1 4

¢ 2 1 4 3 d 4 1 2 3

e) Answer not known/sflenL asfweflsoemen

Which statement/s is/are true

1. The utkal plainis found along the coast of odissa.
2. It extends for about 400 km and includes the
deltaic region of Mahanadhi river

a) lonly b) 2 only c) 1&2
d) None e) Answer not Known
66 Fabml/&6 Fiflwimeg)?

1. 2 5860 Feiee QET SLDHSmIUTE HHeMLDH6TETE).

2. @ 400 &.5 gnmb HBew@, wWLWeETHS SpbOME
FDG\eU6leMWILLD 2_6TeMLSSUISNSHE SHNeuTLILIBS6TmeT.

a) 1wrEbD b) 2 e C) 1whmib 2

d) gguseoemeo e) eflenL egfwefleosmneo

Consider the following statements about Coriolis

force:

1. Itis caused by the earth’s revolution.

2. Itisresponsible for deflecting winds towards the
left in the Northern Hemisphere.

Which of the above mentioned statements is / are

correct?

a) lonly

c) Bothland?2

e) Answer not known

b) 2only
d) Neither 1 nor 2
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137.

138.

139.

Gamflwnellsv eflems LD LeiTau@BLD FanmisHenen &dbHsHe0

O\BIT6ITS

1 8l Lpslulel &PpHAWLITEd eDHUGSDSI.

2. aL SimrsEGsnagdsd anhenn BLILDD Sems HmLu

85 eflens SNIewTLDTGLD.

Guheapflu sapmisefiled a5 / eeneu sflwimesrg)?

a) 1orED b) 2wrED C) Burem®D

d) @ueimr®Loeved e) eflenL egfweiebeneo

Consider the following statements about Black Soils:

1. It covers most of the Deccan Plateau.

2. It is found in Maharashtra, Madhya Pradesh,
Gujarat, Andhra Pradesh and some parts of Tamil
Nadu.

3. Itis very deep in upper reaches of the Godavari
and the Krishna

Which of the above statements is / are correct?

a) 1land?2 b) 2and3 c) 1and3

d) Allthe above e) Answer not known

&iflged bevor LHBIW LN6iTEUHLD FabHNIBENET SHIHSHEL OHTETS.

1. 88 sssnenr NLLpluler LG LGHeoW 6oL sHuig).

2. @giwsmmeigen, &S LITCHSLD, GRING, SHHSMIATCHELD

LOHMILD SLOLPHMLIg6tT Hevo LGHBerfled HmewrILGSDE
3. 88 Gangneufl HMID Sepeigevorm SpSweunnesr Goed
LGSsefayb LS| SppLomest S hisefeyd sTewTlILIBLD.

Gwhsaplu sapmiseiled a1 / eeneu sfliwimesrg)?

a) 1 whmub 2 b) 2 whmib 3

C) 1 whmib 3 d) GuhsenL SmesHIb

e) eflenL egfweiebeneo

Match (Wildlife Sanctuary)

A) Vallanadu 1. 1962
B) Megamalai 2. 2009
C) VadaCauvery 3. 1987
D) Mundanthurai 4. 2014
LN BSSIS (EUerTeN6vRIS FIETTMEOWILD)
A) eucoeomn(® 1 1962
B) Gswened 2. 2009
C) euwsnGeuf 3. 1987
D) weiormbgienm 4. 2014

A B C D A B C D
a) 1 2 3 4 b) 3 4 2 1
003 2 4 1 d 2 4 3 1
e) Answer not known/sflenL esflweflsoamen

What is the annual rainfall of Tamilnadu?
a) 945.8mm b) 958.5mm c) 965.2mm
d) 967.5mm e)Answer not Known

SLOLDIBLIQEST Dp6v0T(® LDEWLPLIOILIMLA6Y 6T60T601?
a) 94s.810.8 b) 958.5 .18 c) 965.210.8
d) 967.51.8 e) sflenL e fweiicoemen

140. Which of the following plateau is bounded by the

aravalli range, Vindhyan Range and Bundlekhand?
a) Malwa b) Baghelkhand

¢) Chotanagpur d) Meghalaya

e) Answer not Known

141.

142.

143.

Spsanamid abs SLLpBlwTens SpTeaiesd wemev, sfibSuw
LDEWED LDHMILD LIETITL 60&6OTL. SpIIEUDMITEO FPLILILB6T6S)?
a) wmemey iy b) useoseson Sy

c) Gsmiimmnsyi Sl d) Gwameown Sy

e) L asfweiicoemen

Match List | (Ores) with List Il (States where they are

mined) and select the correct answer.

List | List Il
A) Manganese 1. Madhya Pradesh
B) Nickel 2. Odissa
C) Lead-zinc 3. Rajasthan
D) Asbestos 4. Andhra Pradesh

ucewied | 2 @Brgisse) urewed |l Brgser e@sslILGD

wonBeomigei) 2_L 6t OWIN@hSS slwinet sflenLenuis Gsitay 115,

uteuied | uceuisd 11
A) prsests 1 el CssLD
B) Baaeo 2. Qe

C) mwib - g5EESD3. GmezeusiTedr

D) SpsvesvLneny 4. SpmpSTiinGssb
A B C D A B C D

a) 1 3 2 4 by 4 3 2 1

cg1 2 3 4 d 4 2 3 1

e) Answer not known/sflenL asfweflsoemen

Consider the following statements

1. Desertification is one of the major problems of
Tamilnadu

2. According to ISRO report 21% of the total geo-
graphical area is under desertification

3. About 1200 hectares were affected by sand depo-
sition in Theni and Rajapalayam

Which of the above statement/s is/are correct?

a) 10nly b) 20nlyc) land2

d 1and3 e) Answer not known

LstTeupLd FabhmIsemeT SHSH60 O\ST6Ts:

1. sUIRBIE aBHO&TETEBLD WSSWL L8 &en et & e s
RETM| LITEDELEUETTLDTGI60.

2. ISRO efietr BeveusmnliLiLgdetr Lig &M 21% BeolIL@GS
LITENEDEUEDTLDNS 2 6T

3. Gzerfl, @ommunenerwib LGSsefled &wmT 1200 OaD&GLIT
Bevld &MMMIQ LD6TOTED Ligaydenied LINGaaLILILBeiTerng.

Guhaapflu sapmiseiled a5 / aeneu aflwimesg)?

b) 2 wr@Eb

a) 1wr@Ew C) 1whmb 2

d) 1whmub 3 e) sflenL egMweisbeneo

Which one of the following statement is false?

a) Salinity is defined as the ratio between the
weights of dissolved salts per 100 grams of water.

b) Itis expressed as part per thousand (%o)

c) Salinity has no units

d) Depth of water is measured in the unit of fathom

e) Answer not Known
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144.

145.

146.

147.

SSHTEVLD 611bS S SEUDTETTS)?

a) e amifwb eeug 100 &rmb &L BHSGD 6o
seImbgleter 2 Liflelr aenLGEGID LewLGW 2 eiter
6AS5CWN@LD.

b) @s1(%o) et SpulnsSeit LSS SapILEEDE!.

€) 2 amwusSns 6mbs oG Geoemeo.

d) Bfietr Sppb ‘LNGHMD’ e168TD Die0SMED HeMSEHILBEDE.

e) L agfweiicoemed

Consider the following statements:

1. India does not have any deposits of Thorium

2. Kerala’s monazite sands contains Uranium.

Which of the statements given above is/are correct?

a) 10nly b) 20nly

c) Both1and2 d) Neither 1 nor 2

e) Answer not known

LfetTeu(BLD FaDmISHEMeT HHSDH0 E\BT6TS

1. @bdwneled CamiwsHeit LI eTgIQL5IE06M6D.

2. Gapemneflett GNGeTnen&L evor Uy Grevilwis s s
6\&TeTTB6IT6NE).

Gwhaanlw sapmisefiled a5 / aeneu aflwimesg)?

a) 1wr@Ew b) 2wr@Ebn C) SuswGD

d) @uem@Gween  €) sflewL OFfweiseneo

Which Doab is in between the river beas and Ravi

River?

a) Bari b) Rechna ¢) Sindh sagar
d) Chaj e) Answer not Known

Nwrsiv wHmIb orell FHeBMLEW ebs SphmlewL Fwaeuer
SHEDLDIHSI6TTETS]?

a) uf b) ensdem C) Hbg snai

d) & e) eflenL esfwefleosmnso

Consider the following statements about Gas Author-

ity of India (GAIL).

1. Itwas set up in 1984 as private sector undertaking.

2. Exclusive reserves have been located along the
eastern coast only.

Which of the following is/are correct?

a) Only1l b) Only?2

c) Both1land2 d) Neither 1 nor 2

e) Answer not known

BiHu Quihens efleumy Breued (GAIL) Lbiw Aesreumpid

FoDMIHEDET HHSIE0 C\HMT6TSH

1. B8 1984 plb Jpetoniged Sellwinit glewm Bmieuewonss
SIEMIDESLILILL ).

2. Nr58Cws @mLyseT BwéE sLhsemruied WLGEEWD
SHEWLDIHGI6T6ITEDT.

Ghsamiu sapmisefled eg) / eleneu siflwimerg)?

b) 2wr@bn C) SusuGD

e) eflenL agfwelisosmen

a) 1wr@Ew
d) @ueir®Loeoed
Match the following :

Passes States
A) Zojila 1. Uttarkhand
B) Nidi 2. Sikkim

148.

149.

150.

C) Jelepla 3. Arunachalpradesh
D) Pomidila 4, Kashmir
OLINBSS15.
S6TTeNILL LDMBeOrhIS6IT
A) Gemzfeon 1 2 sfnane
B) B 2. dsdb
C) eamedlicon 3. SipenmeseInGssd
D) ewmsigeom 4. gneipbi
A B C D A B C D

a) 4 2 1 3 by 3 1 2 4

¢ 3 2 1 4 d 4 1 2 3

e) eflenL agMweiicosmen

Consider the following statements about Tropical

Rainforests:

1. Theyareinthe regions nearthe Equator and close
to the tropics.

2. These regions are hot and receive heavy rain fall
throughout the year.

3. The trees do not shed their leaves altogether.

Which of the above mentioned statements is/are in-

correct?

a) 1land2 b) 2and3 c¢) 1and3

d) None of the abovee) Answer not known

SHWIGTTLDETITL 60 LDEMEV&STBEHET LiDmiul LiesTeudhLd sabhmisensT

SHSBE0 O\SM6TS.

1. Qewer LSS CrenssE JimBayerer LGSsefleyb
SHUIGTLDETITL 6VMRISEHES HBSNILD SHevr ILIBLD

2. 8% LUGPS6T QQILLISE|D HMID SpHetoi® (LP(DEUSILD
SBSLILIQUINETT DEDLPEILIMLSeme ELIMILD.

3. LDOTRIGET SRIGET SEHEOSENET (LPLPEUGILDNS 2_SLILIGe0emev.

Guhaaslu sapmisefied a5 / erener eoumnesra)?

a) 1whmib 2 b) 2 whmib 3 ) 1wmbmib 3

d) Guohsen. Jmesgd €) eflenL AgMweiemeo

Which mountain range is lies between the river

Narmadha and Tapti river?

a) Vindhya range b) Satpura range

c) Aravalli range d) Ajanta range

e) Answer not Known

IBLDSIT LDHMILD SIS BHSBEMLGILI HHEDLDIHSIETET LDEDEOSEVSTLIT

6151?

a) efBAWN ESOSTLIT b) ensLpoT weeSOSTLT

C) Spreucoed wemeseBTLT  d) DigmHST EDESASILIT

e) eflenL asfweiicoemen

According to Koppens scheme the polar states Jammu

&Kashmir and Himachal Pradesh is denoted as?

a) Aw b) E c) As

d) Dfc e) Answer not Known

GaLiLeiTen &HmeoBemed CUEMSLILIMLIQETLIQ HI(He LiGSuimest

QbW el HMID efibnése NTCsF5ma aeuaimm

SOUIGsT?
a) Aw b) E c) As
d) Dfc e) eflenL egfwefleosmneo
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